
EXERCISES USING SPSS 
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Conclusion: The ANOVA conducted on the four-diet group indicated there was a significant effect 
for type of diet on cholesterol ratio—they were not all the same, F(3, 32) = 7.096, p = .001. Diet 2 
had the best (lowest) ratio, significantly lower than Diets 1, 3, and 4, which did not differ by the 
LSD test, p < .05. 



2. Note. Only the necessary portions of the output are given. Your solution will generate additional 
output that should be ignored. 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 


